I ESH PESLB

AT ATIHEEFITES-Fr
FFICL I E MBI RIT AR ~B——F
F—RIGF R RN FHFZ I

B IHEEHEEVRBERL A

AESTTT RSB 55 B CLAR RIRRAS BT ) 53 WL A A28 R A IR A7 PR 2
") CLUNRIFR AT IZFE, SRURAEIE S WS R 2w %5 R I i
RRZs, IFHKYE ChHe NRIEFEARNE) (LRI (AFED . (Rl Ak
ARREFD) CRAR AR B RS (AR FRE) A LA AR SSVEHE ., VR
RIRLE, WA FIASRIBR K A SRR A BN TR . U A PR S
SV TR . SRR P MR P R AT R i AR R WA

N EAEAE WA, ARSI T AR K2, a7 AR
AR KA RIS o SAPEITAZN, 1255 S0 R R AS B R3S 5 Jit
PEAAT o

A B AU ) SR AE A WA E N & RIA IR K A 5 Mk, B E A
TS AT, IFHERA T HR AR O R VA R WA DT

AP (A wik) SR HAME AT BOE R R, $ i [E AT
SN S5 Bt S TEAE O AT RS SOR A, A B R 2 I R It h

— SWHNBEREFARBEANER

RAIARRBEAR RS HFE RS PNAE, RXRARSARWNENEC T
201141 H28H B4 T CuEZemRk) «  CPENUESRMRDY « CCREUEZFIR) Uk
2 HARY FIE PR (http://www. eninfo. com. en) AN AR o AR AR
R2x120114F2 H 21 H B/ 10: 307E I I i 38 15 AR 47 RS Ml T
TF, BIFSERRI ] M Sauaam. A —3.



I ESH PESLB

A, AR AR A ATBEEA (RRERE) IRUE;
TSR

—. SWURBFHIEF

AU AR KRS HEFKERFAIT, ST WS U0NRE, EHFRSTIEANRY
AR R R EE T e, 2P0 ESWNESR . ERSM P LS
AN T FEANEL

B, NRBAERSHA TR AA AR ATBUEIAT (A F EFE)
R 5E

=. ERSWARBZERK

FRPEA TR 237 56000, S5 R IRBA RSB ERBRAR NS T N, AR
LMy 190, 000, 500 B, drAFREAN 74.98%, AR ES . WHLEH
BN BV T AR AR RS BRSSO B3R kA 3K

M. XFlERFHRE

ARIBAK 2 BATIR R NS I P25

. RFARIBRERSHRRIEFIMRRER

JBEZR K23 2011471 H 28 [ £ 13U 1 2 75 48 B PR — T e T30S IO o HH 6 AR IR
RS A A I AR BB B TUHAT T 9 O Ll 4 B 7 B AT 1
R, BARE R COTAE B 329 4 F T vl B A I 288 e 0 H (i)

AR A PRI AL AT, 2 INAR RO 23 1A P 0 AR e R AR B3 Bid 44 BES
7 2O SN 5 B IR R AT T BT, I AR A A, R AR
RIS PAFEIL o APTHIG . 2 7] P4 B AR — 44 I 3L R AT



I ESH PESLB
TSNS @l ARIBARRS MR RFEFPFF A AITBOEA. Al
RESC KRR RN AORAE s ARSI R S RAEA R

g bprid, AP, AFRARRIAR K AE ATTREPAF SR
ITBGEM . A BEREA (R R D iRE s RSN R TR . AN
THRVEA R SWIRIRREF . RE R EGEA R

(LR IEIESO



I ESH PESLB

CARTUTEIESC, N ARt AR 55 B oc Fr oA A B R e A7 R 2
w) R IR I IR R 2 VAR A 2 88 7 1 3 00

LRTESERESH (25) ol 22
fEA
BEREAR =

—F-——HZA=-+—H 5Kk ZE



